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No. of items:50 )
No, of Pages:20 PAPER -1 - A 99 el so ;
(including rough wark) SET- A qu i 20
INSTRUCTIONS TO CANDIDATES aousitier QIc fsSsiom

Read the following instructions carefully before you
apen the question booklet

1. Aseparate OMR Answer Sheet is supplied for writing
the answers. Wriledown your application from no. &
11 digit roll number on it as per your Admission Card
and darken the appropriate circles on the answer
sheet.

2.Check thatset code (A,B,C orD ) is printed on fhe
boakiet and indicate your set code by blackening
the appropriate circle inthe OMR answer shest,

3. Do not write anything in thisBookiet except the Rol
Na. However you can yse the blank pages provided
for the roughwork atthe end of this booklet,

4, Slart answering when you are toid to do s0. Do nct
turn the pagesbefore that.

5. Answer all the questions.Each question has Tour
probable answers of which one is comect. You have to
choose the correct one and blacken your choiceinthe
OMR answer sheet by a black/blue ball point pen.

- Use of pencil is not allowed. {f your choice is seocond
response then answer likethis.

a8®0

6. For wrong answer, there is no deduction of marks.
One mark shall be awarded for each camrect
fesponse,

7. No. Mark will be awarded for a question If a
candidate darkens more than one choice.

8. Retum the Answer Sheet anly to the invigilator as
saon as the final bell rings. Ask for anather Booklet rf it
is defective, before you start answering. '

9. English version of the question paper will be
considered as final -if any dispule arises in the
translated version.
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If Republic day was celebrated in 1996 on
Friday, on which day in 2000~Independence
day was celebrated?.

A. Tuesday

B. Monday

C. Sunday X
D. Saturday .

In a leap year ist January is:Fﬁﬂny,rthén what '
" isthefirst day of the month of March?

A. Tuesday

B. Wednesday

C. Thursday

D. Friday

ﬁﬁd.thmissingtgrminihe serfes . 3.:.
| 2A11,4D13,12G17,____ |

A~ 36121

B.. 48121

C. 48123

D. 36A19

; 4
What will be the angle between hour hand and

minute hand, if clock shows 8:30 p.m.2”

A. 90 ‘
B. 7.5"-
c. 60°
D. as-‘”-

The sum of the ages of 5 children born at the
intervals of 3 year each is ko year. What is the

ape of the youngest child?
A. 4 ;rear

B. 8year

C. 10year

D,

None ofthese

. ®

R
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r

o 1996 Al cges F0a gaaie 77 aiRe
RRILIQLR, SISEER, 2000038 TRIRE! Fog

6QEC QIR FAUDIAYS ?
A, AR

B. 6UAQIR

C. oPeR

D. ¢RI,

caIT e eROEER QIRAIRl 1 SR -0 RS
R C66, ©I6EEM, FISFITA. gaf Grdh
cReIDIneEe ?

A. - AR

B. @ . '
C. wWee

D. Q@

RIgRaRanes
2A11,4D13,12G1%;___.

A demL

B 4§D

o agpy

Do 36849 |

£1F GG 8:30 p.m.» GOUN, OISTER OURE 6
fRc aaIrRIsaERcocRIa6RQ ?

A 90 :
Biz 75
. c 6

D; 85° .

g6 SRed MIQUIRER 87 68IRYRI 5 ¢ Galara
eAae and so o1 AQ0Iq AR SRR ead
6Q6Q ?

A. 499
B. 8od
c. 108d
D

ealeRpRsel

© 5MS-2017-18-A
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6. Giventhat:

i Alsthebrother of B

ii. CisthefatherofA

m.l}kthebmﬂm'nfﬁ

iv. E is the daughterofB

Then, uncleoTDis

A A

B B
c..C
D E

7. The positions of Gow many dgits the o
aumber ‘5314687 will memain

&, HNone

B. One L.
C. TPwa

D. ° Three

{(Q.8-10) : In each question find out the m

oumbers andietters
34

A, Yanddo

B. Uasand35

C. Wandt4

D.

Xand®t

? )

PUIRE 62

L armeae
O AR

Hi. “D*E'Q@R
v ‘BBary
‘quéfasﬁiaafmng_m?
4 % . ¥ :
B.

a w >

A m%ﬁ e
B. 6P¢

c. ool .
D. Gerl

=

B b e W e———

A, Y 348
B. UG
C. WeH

D X®©8

SRS - FOIT-48 R
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9.
A.
B.
C..
D.
10.
A.
B.
€
D:

Jand 8O

Oand83

. Nand74

Pand@85

18,34
14,21
56,84

12,18

11.° IfCAT=12,thén MAN=?

A.

Downl oaded From :

B
C.
D

14
24
16

15

A. JB80

B. 0083

C. N84
. e

D. P@8s

-a

A 18,34
B 14,21
. C. 5638
D. 12,18

1. CR CAT=12,0686MMAN=2?

A. 14
B. -24
c 16 ..
" D. 15
(5) SMS - 2017-18 -A
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12. If ‘FLARE’is coded 8s 21, 15, 26, 9,22, then 12 - % ‘FLARE’21, 15,26, 9,22, 98 6018, 8,

how. would' “BRETF be coded in the same _OI6E6M YRIRIGISR ‘BREI @C8 668
!anguage? ' . eaide ? |
A, 25,9,22,21,18 A, 25,9,22.21,18
B. 5,37,11,19,13 B. 5,37,11,19,13
C. 13,19,11,37,5 | € 13,19,11,37,5
D. 259,22,18,21 D. 25,9,22,18,21

3. If in 2 certaln code MOTBER is coded us | 13- 8 6613 Fie 615 ‘MOTHER’ NPUIFS

NPUIFS, then ZENITH will be coded as afl 6QI6, £, SIEESR ZANITH 05 648,

68Q?
A. AFOGHI
. A. AFOGHJ

B. BGPKVJ _ o 'B. BGPKV}
C. AFOMA C. AFOJUL
= A.FOGH!I e ' D. AFOGHI ..

- eowse | (Q.14-16) Fedeaief: A’ Cig T adis AIgaUe U

: S g SeiRetelugnaRl eaaden My

1Q.14-16) Directions : It is an arrow diagram o gﬂ@ EHAR, FRINGA P QReNg 2eRH Ot ue

arrows indicate the time it takes in hours to cover the = s
ST et il ~Q° RG]
distance between .two siations. Staﬁy;ﬁie diagr ‘Iﬂ? m%m

and answer the following questions.

Eaath

. oy By e -, e -
travel network fromAto l.'!‘lmnumﬁ'er«’alougsideihﬁk o0QIa TeYRl aRRg (BEER) 356 asal Getg

]

14. 'Which is the shortest path one can lalje to 14, ‘4{{;?}%‘[‘ ads LB Qﬁ@l AN REE Eﬁﬂf

travel from Afol? I ;‘ﬁg@é“ggﬁg ?
"A.  ACEH TR e -
.5 A A. ACEHI
B. ACFGHI . e : : 5 &
C. ACDGHI - = C' A?.,_tfm |
D. ABEHI . DRI
D. ABEM{ e
® .. SIS - 2017-18 -4

I
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15. ApersontravelstolﬂaA,C,D,F,Gdeand 15. %ﬂ@‘lﬁA,C,D,F,'GGHﬁtNSGQIQGTQi

returns via H, E, B and back to A, How many @ER ¥9e° H, E, B FIRl§ 62R A q_susm 6Q
hours has he travelled? 6R6e Bl I a8 |

A.  29hrs A 2908

B. 3lhrs B. 3194

C 58 hrs C. 235

D. 32hms D o

16. If critical path is defined as the path which 16, £7 9R0Iq MAI ARIS, 6REYR SIeTg AlR otE'

. takes the longest time, then which is theeritical 601} TeROR QRICI 6069 A G 1 FRISA QTR
- -path between A toI? LS T~ Qe fene? '

A. ABEHI ' A. ABEHI

B. ACFGHI ' 'B. ACFGHI

c. ACDGHI _ . C. ACDGHI

o D. ACDFGHI™

ACDFGHI
; Q1721)76daed: FATQYA BN §5Q FeaqEs

eﬁﬁsalg ggqfeaaenadal

gnswerthefonowingquesﬁons. ' : ¥ 5 1T
08 AFB,, . BGhnCD} DE! E=AT °

i (Q.l?-zl)bl_l".ecﬁons: Analyse the given data El:l;i

If A=B, B=C] C=D] D=E’ E=A}

YN

A+B:E ﬁ;a,,msm

17. B—iTl-— il ﬂﬁﬂﬂlﬁ‘ﬁﬁ? ?

Ar!d A+BzE then

17. B% isequalto
A 2 & 2
B. 4
B. 4
c. 1
C. 1
D. 3
D. 32

18. AME'QFRIEEEE 6L 7
18. Thevaluepf A+Eis

A.  amultipleof 2 greater thanfour A 20986Q,4Q5e8

B. amultipleof3 B. ) 3qqfiea
C. aprimenumber C  wedReTwm
D. anumber gxcatef than 10 _ D. 10Qe¢asH
) " . $MS-2017-18-A
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- A

ving i leof57
19. Which of the foliowing is a multip! o‘ 18, ﬁﬁ] ﬂﬂ%ﬁﬁﬁ@'sa@ﬁ‘?’|
A. 7CH3E 7 ' ;
: . A, T?C‘S;_?E ;
B.. 2D'46A° "
) B. '2D'+6A
C. - 2E+A+8B ' i
C. ZE+ATEB
A+2B+6C '
2 D, A+2B+6C
20. Which ofthe followingis the velue 6fA? 20. ﬁF}FﬂQAﬂ&ﬂ"'ﬁm?
A B 3 '
A B
B. Els B Em
_C- e ’D|D ., o -
c. D"
D. C

D. C
Q {21-23): In each of these guestion , a sevies s ‘ QY (21-23): GEMR TY SA ﬂjé i TS
given in which one figure is missing. Find the SRS SHE ﬁﬁﬁ!ﬁﬂﬁd@qﬁe@m

8te m (aq ﬁ'ﬁ? QUL P— Figum{m &
. : , . R
o|@| 214 | |AIA|
2. 4 1 T
: e 1 2
A1 A
5 5 B 2 .
C 3
c 3 '
D. 4
D. 4
Problem Figare {gg 89) . Answer Figure (0s@ %) .
¢ ) x G G :0 ] F R |
1o ?20 1 oK x 10"
22. - x4 v Yx ¥
. | 2 3 4
'
1 B. 2 i A1 B, 2
& 3 D. 4 ‘ c. 3 D.
L 8) ' SUAS - 201718 -A
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23.

v oo w >

Problem Figure (g4 &)

2
3
4

Answer Figure (¢8a 25)

e

1 2 3 4
A 1
B. 2
cC. 3
D. 4

Q. (24-27): In gach of these questions, identify the g} (24-27): Q60U Qf) 66 S8 AR FRIE, =y
odd one from the given choice. y '

24,

2?'

O 0 Wik

U 0B >

v o w >

U 0o = »

. -Hard;:Soft

Long :High .
Sweet: Sour

‘Pointed : Blunt

8314
2709
1315
2518

7,7.3,17
67,71,3,5

_ 41,5,3,47
17,14,19,7

DXCLQZ
PFZUBM
XGKNTY
NWMBHJ

()
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"% 25, .

sgeaal
24,
-A. Hard:Soft
B. Long:High
C. Sweet:Sour
D. Pointed:Biunt]
'.A: L sz.ﬂl'
B. 2709
C. 1315
D. 2518
26, .
A 71,73, 17
B. .67,71.3,5
C. 41,5347
D. 37,14,19,7
27
- A. DXCLQZ
B. PFZUBM
G XGKNTY
D. NWMBHJ
SMS - 2017-18 -A |
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In the sequence of numbers

5,8,13,x,34, 55, 89 the value of x 1

A 20
B. 2
c. 23
D. 29

29, - Find themissingtermintheseriss-

3- 57

So 1l 2w
Vil 4 4fa e
12
A —=
16/
1
B. ____lﬁﬁ
s 14
C. "16/4
5
D 1ei -

30. Im the following number series, 4 pumber
wrong. Find the that number:
2,3,10,40,172,885,5346 .

A, =3
885

€ 40

b. 172

Downl oaded From : http://cbseport
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28, GRS HYRAEA TAFRIERES ?
5,8,13,x,34,55,89
A. 20
B, 21
C. 23
D 29
29, e Y RER TRCHGZE dIUe] ARl
i A :
W ale
A A2
_u_ |
B. 6l
2 s
e & 6
il
LT, F LN __!__'S__
s 30, 7] UY QAen caile e QR 281 638 -
e e
2,3,10, 49, 172,885, 5346
A 3
B. 835
C. - 40
D. 172
a0 WS - 2017-18 -A
al . com Courtesy : NTSE
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31, Find out the missing term in the following 31, ﬁq QISR 2RTRYS ARFG QRIRR |

- ? LJ
series W-144, 7, S-100, Q-81, O-64 W-144, 7, 5-100, Q-81, 064
A, V-121 A, V-121
B. U-122 . B. U-122
C. V-I28 C. V-128
D, U-i2l D. U-121

32.. In the given series of letters a definite'rule s 5, gp 550 cyagica caiE Ale Fan 2oaad

followed, Determine the next_ .__twn‘:_letlm eaISICE! 5&{ QF 2RTRE o8 caed Q'G'IC"
following the correct order. ZISQQFRG'E?Q ?
ATKTUBILSVCHMRWDGNQXEFO?? . AJKTUBILSVCHMRWDGNQXEFOQ??

A YZ LR A YZ

B. PY. : ‘ . B. PY

C. ZA C. ZA

D. FPZ D Pz

: _ 33. 88, P+Q, ‘P’ ‘Q'Q Al QM QNG

33. If P+Q is ‘P’ is the husband of ‘Q%; P+Q P Q0 OREI 6AIR QU we

P+Q means ‘P’ is the sister of ‘Q’ and ’ ’ e _

P x Q means ‘P’ is the son of ‘Q’,which of the ‘ P x Q, ‘P ‘Q’, § g8 6V QKIM, 6660 e

following shows ‘A’ isthe daughterof ‘B’? FRIQEREE ‘A’ ‘B’ Q@ucemexide? -

: ) A. CxB=A
A. CxB+A

. B. © B+CRA""
B.  B+CxA 2

C. DxB+C+A
C. DxB+C+A .

D. A:DxB

D. A=D xB
' : 34, ‘P’ UG 10 AcR ORI & Q1218 10 fca
34, ‘P’ walks 10 meters in front and 10 meters te Sml | closa gfue 6a Qi -Qlﬂfﬁl

the right. Then, every time turning to his left he

walks 5, 18 and 15 meters respectively. How far . MPIEIER DAURSA 5, 15 8 15 Asa DIRAI
is he now from his starting point? G‘é?ﬁﬁ‘ on a0 qﬁw ﬂlﬁ'ﬁl € 6RER
2 meter easR 2R | ‘ '
B, 4meter ; b ) A 20
C. Bmster B. 4A9Q
B Soiins C. 859
. m
© D. 5f%Q
(11) - ' SMS - 2017-18 -A
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. | |
35, Potato, tomato and vegetable can be [35. eg, SRIEET] ~e* Rl @ qumsale@ (=15~
represented by a paitern. Find the best one cisedod - ﬂ!ﬁ? ,

Vo

3. Study the following ﬁgure and-Bnd the |3c - 200 %, 8
zrea which represents the persom whio are. } Wm PO, w

graduateandpeonhutnotsaﬁsﬁed g B = : ﬁwﬂﬁmwmm
\ R mﬁ‘qmmem

~-i—k——Not satisfied (2QAERHS )

|
Peon (A2) :
Graduate Qe ) B,
A b g b
B. . e B. e
‘C,. f 1, Cc. ¢
D. a D. a
| i
a2 ' SMES - 2017-18 -A
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37.- In a telephone directory, which among the . cqB, cofcern FedsionEa 7 aR FIUS:&_

following names will appear in the middle?

Sajewat, Segvan, Sajevar, Sajewet, Salwar

38.

39.

40.

Downl oaded From :

A. Sajewat

~B.  Segven

C. Sajevar

D. Sajewet

Select the series, in whicl lefters arc not sq
according ta a genéral rulel

A. CEGIKM

B. MORTVX

C. PRTVXZ

D. ZBDFHJ

In the diagram, the number of those candidates  39.

is given who passed in physies, Chemistry and
English. Total number of ~candidates who
apeared for the examinafion-was 600, Find the
percentage of Candidates who passed ‘in at
least two subjects.

A 125

B. 125

C. 1205
D. 12

Rahul ranked ninth from the top and thirty
¢ighth from the bottom in a class, How many
students are there in the class?

A, 45
B. 46
c. 4
D. 48

(13)

http://cbseportal .com

sR6 Of FZsa aie!
Sajewat, Segvan, Sajevar, Sajéwet, Salwar
A.  Sajewat '
B. Segvan
C. Sajevar
D. _.Sajewet

<R QUG RAA ZRACR-HYS! TN ATG
Qie!

A. CEGIKM
B. MORTVX
C. PRIVXZ
D. ZBDFHI

Fofsq aaid far, eQian FEIR ¥
raieen e sameel Ghree ae -
FANGE | TN 6eRYIANS Qi A
600 2568 gEf Gadsa aad eRIGYM
gfieadu giartaemiaen ?

125

A.

B. 125
C. 1205
D. 12

66101 GEETER QIR AEA 21E FOA 6 6R2IG
38061 QUIEEER GEMI| 6EEIER AFIRIA EREE

figelg 2188 ?
A. 45
B. 46
c. 47
D. 48

SMS - 2017-18 -A
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f

41. . Whoare the illiterate females whodo ot leave | 41, GIFI6R 91 QQEYRl BRfie AERIPa TPy

_ inthevillage? QIO e , :
3 fio\ 7 " |
— () Vilisge Residents Femaies
12 6. |8 (GiFea i aale! FBRY)
4 A mterste Women (2880 B0
g
1 | m(qﬂmﬁ ’

A 4 _
A 4
B. 11
B. - 11
C. 35
: C. 5
D 9
D 9

R ¥

42, 1f1.12.91 is the first Sunday then which is the 2. €7 I8 gR m L.i291 Gﬂ ase eeee

fourth Tuesday of December 19917 - Georn 198t m@mmma
A 17.1291 '
A 174283
B. 241291 .
; ' : B. 24.1291
C. 261281 o3 ’ '
: C. 2612931
D 3329
D 31128

43. Thereare fivebooksA;B,C, DandE.Thebook 43.. A, B, C, D@ E Q8 ¢B{ «C’ ¢2F ‘D adisR:
* Clies above D. The book E s belowA, Dis

] 2B 1E’ 0 ‘A’O6R 2B, DA’ Qe ER 8
above A, Bisbelow E. Which isatthebottom P :

- B ErOREE 1S BRen 6QETREEZR ?
B. B | A E
}
c. a ' E 8
i C. A
D. C ;*
: D. C
l .
' (14) S5 - 2017-18 -A

Sriends
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44. Tua chess tournament each of six players will 44, 6QIG 60Q QF6LITRIEN BRURO SHRIAEP

play every other player exactly once. How g osve caa e 54 dsa sufise!
many matches will be played during the >
gosadel fmuea QReIR 6R6RIE AYS
tournament ? . . A
A 12 GeRIGR
A, 12
B 15
o .B. 15
C. 30
C. 30
D. 2 ’
D. 36
45. At 2 party, there ‘are 43 'persons in all. The 45. 6GIEW TIF6R QARIA 4304 288 | AReie
number of wornan is two more than man but U goSEr @i ZeUs! 2 2R @5 dale
the number of children is 4 less than men. How QU golar U0l 4 R*F | 6d0IER
- manywomenare there? _ . eReeRanEnlzeE ?
A A1
B, 13 - . - . B. 13
e Iz - ' ¢
D. 15 | D. IS

' ' T s getie O 60 §RT AR M1
Q. (46-47): In each question, find the water-image of w( jﬁgfﬁ ‘32' " R’ ®
the Figure (X) from the given choice 06Q &A gEHGq Q! b '

46.

- X
& i 1 2 3 4
B. 2 ay )
c 3 B. 2
D. 4 (il B
: D 4
Sw (185) . (SMS<2017-18 -A
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47.. )( Eg
@

(X),

1 2 3 )

A 1

A1
B. 2

B. 2
c. 3

c. 3
5.

D. 4

. FOTgenEeRgRCaRIENIHNERGS 2
48. Find the pumber of triangles in the disgralL @ W =T L

given below -
A 32
B 3%
C. 30
D. 29

ag ' S - 2017-18.-4
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(Q.49-50)Directions : Read the following (Q.49-50) Fedelef: 9ggFon aem 6ee! T 74
inform:ation carefoily to answer the questions. Ge.lllslﬁe asgeInan g

A cabeis colotired red oui all of s fiices. T8 66l are arE af AR eesa §70

then cut into 64 smaller cubes of equal size. The QRISRAI SIER 619 645 AR ARIRES 68IE
.maller cubes, so obtained are now sepaated. 6816 U8R FIF TR AGIER! |
49. FHow many smaller eubes will bave atfedsttwo & SHSEIOSEFTNA 2508 Q0T A AR acTen
" surfaces painted-with red coloun? L
_ s
A 4
A 4
B. I8
_ B. 18
C. 32
c. 3
D. 24 :
: ; D 24 . .
. 50. How many smaller cubes have two surfaces 59, mﬁmm@@g@mﬁqmaﬁgg
painted with red colour? . | fieR ?
A 24
A, 24 :
C e B. 8
B8
C. 12
SLC
D. 26
D 20
— sk —
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